ZH 2 DIN705 2ELEH, |KZ AU

= 8Y/HMIZ olo|x]

o

A T RIS 0hRE| E FE M|, HA D3R

=N
@ D3 .
o Stz . B
R . \
~ S
- - & - - }_ E — - —— - -
' |
r V.
DZ,,,g AB]'S74‘
1
ES 9%
FEHS THE MA ] Efe] D1 B D2 D3
718 S| LIAF AEE
K0406.300301 AR PNLIRS I o] E 3 5 7 M2x3
K0406.300401 A& A= orF 2| E 4 5 8 M2,5x3
K0406.300501 AEl Aodx ot 2| E 5 6 10 M3x4
K0406.300601 AR Aroix or 2| E 6 8 12 M4x5
K0406.300701 AE Aedd or R 2| E 7 8 12 M4x5
K0406.300801 AEl Aodx ot 2| E 8 8 16 M4x6
K0406.300901 AE Aroix OrF 2| E 9 10 18 M5x8
K0406.301001 AE A orF 2| E 10 10 20 M5x8
K0406.301101 AE Aroid orR e E 11 10 20 M5x8
K0406.301201 AE Aroix Or R 2| E 12 12 22 M6x8
K0406.301401 AE Aodx ot 2| E 14 12 25 M6x8
K0406.301501 AE Aroid orF e E 15 12 25 M6x8
K0406.301601 AE AHoix OrF 2| E 16 12 28 M6x8
K0406.301801 AE A4 ot 2| E 18 14 32 M6x8
K0406.302001 AE Aroid orR e E 20 14 32 M6x8
K0406.302401 AE Ated™ o R 2| E 24 16 40 M8x12
K0406.302501 AE oA orF 2| E 25 16 40 M8x10
K0406.302601 AE Aroix orF e E 26 16 40 M8x10
K0406.302801 AE Atedd o R 2| E 28 16 45 M8x12
K0406.303001 AE Xodx ot 2| E 30 16 45 M8x10
K0406.303201 AEl Aodx ot 2| E 32 16 50 M8x12
K0406.303501 AE Atedd o R 2| E 35 16 56 M8x12
K0406.303601 AE A orF 2| E 36 16 56 M8x12
K0406.303801 AEl Aodx ot 2| E 38 16 56 M8x12

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



K0406_E

°

Z& 2/ DIN 705, A& EH, 2 231

EZS 29

FEHS TFHE MA EMH Ele] D1 B D2 D3
7|18 SH LIAF AEE

K0406.304001 AEl Aodx ot 2| E 40 18 63 M10x16
K0406.304201 AR Aroix Or 2| E 42 18 63 M10x16
K0406.304501 AE Atedd or R 2| E 45 18 70 M10x16
K0406.304801 AEl Aodx ot 2| E 48 18 70 M10x16
K0406.305001 AE Aroix OrF 2| E 50 18 80 M10x16
K0406.305201 AE oA orF 2| E 52 18 80 M10x16
K0406.305501 AEl Aodx ot 2| E 55 18 80 M10x16
K0406.305601 AE Aedx ol R 2| E 56 18 80 M10x16
K0406.305801 AE A or R 2| E 58 20 90 M10x16
K0406.306001 AE Aroid orF e E 60 20 90 M10x16
K0406.306301 AE AHoix OrF 2| E 63 20 90 M10x16
K0406.306501 AE Aedd orF 2| E 65 20 100 M10x20
K0406.306801 AE Aroid orF e E 68 20 100 M10x20
K0406.307001 AE Atedd o R 2| E 70 20 100 M10x20
K0406.307201 AE A orF 2| E 72 20 100 M10x20
K0406.307501 AE[QIE|A AR A2 Atedd orR 2| E 75 22 110 M12x20
K0406.308001 AE|QIBA AR A2 Ated™ o R 2| E 80 22 110 M12x20
K0406.308501 AHQIE|A AR A2 Atedd ot E 85 22 125 M12x25
K0406.309001 AE[QIE|A AR A2 Atedd ot R 2| E 90 22 125 M12x20
K0406.310001 AE[QIBA AR A2 Aodx ot 2| E 100 25 140 M12x25
K0406.300303 AE oted =2, MM mlatxz| E 3 5 7 M2x3
K0406.300403 AE ofod =2, MM matx{Z| E 4 5 8 M2,5x3
K0406.300503 AE ofod =32, MM m[atx{Z| E 5 6 10 M3x4
K0406.300603 A€l oted =3, MM m|atx{Z| E 6 8 12 M4x5
K0406.300703 AE ofod =2, MM matx{Z| E 7 8 12 M4x5
K0406.300803 AE oted =&, MM matxz| E 8 8 16 M4x6
K0406.300903 A€l oted =3, MM m|atx{Z| E 9 10 18 M5x8
K0406.301003 AE ofod =2, MM matx{z| E 10 10 20 M5x8
K0406.301103 AE oted =&, MM m|atxZ| E 11 10 20 M5x8
K0406.301203 AE oted =2, MM mlatxz| E 12 12 22 M6x8
K0406.301403 AE ofod =2, MM matx{Z| E 14 12 25 M6x8
K0406.301503 AE oted =&, MM matxz| E 15 12 25 M6x8
K0406.301603 AE oted =2, MM mlatxz| E 16 12 28 M6x8
K0406.301803 AE ofod =2, MM matxz| E 18 14 32 M6x8
K0406.302003 AE oted =&, MM matxz| E 20 14 32 M6x8
K0406.302403 AE oted =3, MM m|atx{Z| E 24 16 40 M8x12
K0406.302503 AE ofod =2, MM matx{Z| E 25 16 40 M8x10
K0406.302603 AE oted =&, MM matxz| E 26 16 40 M8x10
K0406.302803 AE ofod =2, MM m[arx{Z| E 28 16 45 M8x12
K0406.303003 AE ofod =2, MM matx{Z| E 30 16 45 M8x10
K0406.303203 AE oted =3, MM m|atx{Z| E 32 16 50 M8x12
K0406.303503 AE ofod =2, MM m[akx{Z| E 35 16 56 M8x12
K0406.303603 AE ofod =2, MM m[atx{Z| E 36 16 56 M8x12
K0406.303803 AE oted =3, MM m|atx{Z| E 38 16 56 M8x12
K0406.304003 AE ofod =2, MM m[arx{Z| E 40 18 63 M10x16
K0406.304203 AE ofod =2, MM m[atx{Z| E 42 18 63 M10x16
K0406.304503 ST ofed =2, A m|atx{z| E 45 18 70 M10x16
K0406.304803 AE oted =2, MM m|arx{Z| E 48 18 70 M10x16
K0406.305003 A& ofod =32, MM matx{Z| E 50 18 80 M10x16
K0406.305203 AE oted =2, MM mlatx{z| E 52 18 80 M10x16
K0406.305503 AE oted =2, MM m|atx{zZ| E 55 18 80 M10x16
K0406.305603 AE ofod =32, MM m[atx{Z| E 56 18 80 M10x16
K0406.305803 AE oted =2, MM mlatx{z| E 58 20 90 M10x16
K0406.306003 AE oted =&, MM m|atx{Z| E 60 20 90 M10x16
K0406.306303 A ofod =32, MM matx{Z| E 63 20 90 M10x16
K0406.306503 AE oted =2, MM mlatx{z| E 65 20 100 M10x20
K0406.306803 AE oted =2, MM m|arx{Z| E 68 20 100 M10x20
K0406.307003 A ofod =32, MM mat&{Z| E 70 20 100 M10x20
K0406.307203 AE oted =2, MM mlatx{z| E 72 20 100 M10x20
K0406.307503 AE ofod =2, MM matx{Z| E 75 22 110 M12x20
K0406.308003 A8 ofod =32, MM m[atx{Z| E 80 22 110 M12x20
K0406.308503 AE oted =2, MM mlatx{z| E 85 22 125 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



ZH 2 DIN705, A& ESH

FEHS TFHE MA EMH Ele] D1 B D2 D3
=2 =25 LIAF AEE
K0406.309003 AEl , A T[akR{ 2| E 90 22 125 M12x20
K0406.310003 AE SR R Ep E 100 25 140 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



